BifE B - S F1065£02H25H

A %178

K # ouT IN GR | HDCP | NET
CI-RIET B 46 46 92 1 21.0] 71.0
INEH FNER 44 43 87| 15.0 | 72.0
#yriL ER 57 49 | 106 | 34.0 | 72.0
K FE 44 47 91 ] 18.0] 73.0
Rk HHE 47 45 92 1 18.0] 74.0
mHE EFA 52 45 971 23.0] 74.0
HE B 45 45 90 | 15.0 ] 75.0
=t 1% 47 51 98 | 23.0] 75.0
I BE 52 47 99 | 24.0] 75.0

10 |FIR T5#2 51 48 99 | 24.0] 75.0
11 |RE #— 45 46 91 ] 15.0] 76.0
12 |Em| &= 49 45 941 18.0] 76.0
13 |Bl #88 42 49 91 ] 140 71.0
14 |BR K= 46 49 95| 17.0] 78.0
15 |45 =4 49 50 99| 21.0] 78.0
16 =& HF 47 46 93] 14.0] 79.0
17 [¥FH 15 48 46 941 15.0] 79.0
18 |[#Bm #= 50 50 | 100 | 21.0 ] 79.0
19 |=%& 8 51 50 | 101 ] 22.0 ] 79.0
20 |£F ®A 53 541 107 | 28.0 ] 79.0
21 |&EH Bz 48 46 941 14.0] 80.0
22 |ME E 53 43 9 | 15.0 ] 81.0
23 |EH #F— 48 51 99 | 18.0] 81.0
24 ||BHE XR 47 52 99 | 18.0] 81.0
25 |RA —¥F 49 53| 102 | 21.0] 81.0
26 |HLE IERE 59 451 104 | 23.0 | 81.0
271 |#LE BX 49 49 98 | 16.0 ] 82.0
28 |BFRIL BA 52 47 99 | 17.0 ] 82.0
29 |”H XRE 46 541 100 | 18.0 | 82.0
30 |%HE X 45 571 102 | 20.0 | 82.0
31 [T ==sh 47 56 | 103 | 21.0 | 82.0
32 |#F & 48 56 | 104 | 22.0 | 82.0
33 | B'F 49 56 | 106 | 23.0 | 82.0
34 [Tk Fz 54 53 | 107 | 25.0 | 82.0
3B |UA FE 53 55| 108 | 25.0 | 83.0
36 |=fm Fak 47 51 98 | 14.0 ] 84.0
37 ||’ #& 51 48 99 | 15.0] 84.0
38 |EXx B= 50 50 | 100 | 16.0 | 84.0
39 (= B 50 53| 103 | 19.0 | 84.0
40 |EH RICE 48 51 99 | 14.0 ] 85.0
41 |BH A 47 52 99 | 14.0] 85.0
42 [# F= 54 471 101 ] 16.0 | 85.0
43 |FH# E 48 53 | 101 ] 16.0 | 85.0
44 |iIEE =&HF 55 55 | 110 | 25.0 | 85.0
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